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#include <12f683.h>

#fuses INTRC_IO,NOWDT,NOPROTECT,PUT,BROWNOUT,NOMCLR

#device ADC=10
#use delay(CLOCK = 8000000)
#use fast_io(A)
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float V_out=0;
void Ledout();
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void main()

{
N7 o JER
setup_oscillator(OSC_8MHZ);
IIA/D =12 = Z3RIE
setup_adc_ports(sANO | VSS_VDD);
setup_adc(ADC_CLOCK_DIV_8);
set_tris_a(0x09);
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output_a(0x00);
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while(1)
{
set_adc_channel(0);
delay_us(50);
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V_out = read_adc();
V_out = (V_out * 3.0) / 1024;
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void Ledout(
{

1.24V=2mW/cm2

2.2V=10mW/cm2

Ledout();
delay_ms(500);

if(V_out < 0.9){
output_bit(PIN_A1,0);
output_bit(PIN_A2,0);
output_bit(PIN_A5,0);
output_bit(PIN_A4,0);
b

if((V_out >=0.9)&&(V_out <1.24){
output_bit(PIN_A1,1);

output_bit(PIN_A2,0);
output_bit(PIN_A5,0);
output_bit(PIN_A4,0);

b

if(V_out >=1.24)&&(V_out < 1.60)){
output_bit(PIN_A1,1);
output_bit(PIN_A2,1);
output_bit(PIN_A5,0);
output_bit(PIN_A4,0);

b

if((V_out >=1.60)&&(V_out < 1.84)){
output_bit(PIN_A5,1);
output_bit(PIN_A2,1);
output_bit(PIN_A5,1);
output_bit(PIN_A4,0);

b

if((V_out >=1.84)&&(V_out < 2.2)){
output_bit(PIN_A1,0);

output_bit(PIN_A2,1);
output_bit(PIN_A5,1);
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output_bit(PIN_A4,1);

}

if(V_out >=2.2){

output_bit(PIN_A1,1); /1>10 FREEIZERVY Vout=2.2V
output_bit(PIN_A2,1);

output_bit(PIN_A5,1);

output_bit(PIN_A4,1);

}



